INTERMEDIATE EXAMINATION — 2019 (ANNUAL)
COMPUTER SCIENCE (CSC)

LA, .Sc. & I.Com. (OPT)

(78 @ 03 g9 15 ) (gotias : 70)
[Time: 03 Hrs. 15 Minutes] [Full Marks: 70]
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Yvs— A (qfis yw)

SECTION - A (Objective Type Questions)
Time: 3 hours ~ (Answers all the questions from all sections) Full Marks : 70
T 3 Ee (T @ W wft weAt &1 SR Q) quIis : 70

Select the correct answer from the multiple choices for the given

questions : 35x1=35
(fav U et § ¥ 98 SR Bt )
1. Term Data Structure refers to vz @nd interrelationship

between them.

(Data structure wafdrg 8 ——————— IR TS T e )
A. Organisation of Data B. Programming standard
C. Coding D. Program Design
2. In data structure, data maybe ..................... types.

(Data strcture # Data frdw yor GG f—

A1 B. 2 C.3 D. 4
3. Variables which can be accessed by all modules of the program is
called ?

(41 variables S Program & =) modules &1 access fdar omar

DHEATT & ~)



A. Static B. Global C. Auto

. Stack, Queue and Linked List can be implemented using.

D. Local

(Stack, Queue 3R Linked List @ implement far rar & -)

A. Numeric Variable B. String Variable

C. Logical Function D. Array

. Which one is a primary key in a student table ?

(=1 % &1 student table &1 Primary Key &9 &1 @ —)

A. UID Number B. Admission Number

C. Account Number D. PAN

. Which one is a valid SQL Command ?
(ffr=1 # ¥ 9 |1 SQL Command & -)
A. cin B. cout C. tuple
. Which one is a non-linear data strl.Jcture ?
(f=1 § ¥ @ non-linear data structure g ?)

A. Stack B. Quene
C. Linked List D. Tree

. Abstractions means
(Abstractions &7 3ref ® )

A. Summarisation B. Elimination

D. select



C. Hiding D. Casting

9. Polymorphism is a feature of
(Polymorphism, T&% fasiyar & —)

A. Procedural Programming - B. SQL
C. Non- procedural Programming
D. Object oriented Programming

10. Object are

(Object & —)
A. Design of function B. Creator of data
C. Instances of classes D. Program Block
1. In Boolean algebra A+A is equal to

(Boolean algebra # A+A sRT9R & —)
A A B. 2A C.O D. 1
12. In Bollean algebra OR operater is
(Boolean algebra # OR operater & —)

A+ B. - | C. \ D.*

13. Which one of the following logical operations is represented by

the . sign in Bollean algebra ?

(Boolean algebra #, (.) sign =1 f&% logical operations &'

represent far Smar & -)



A. OR B. NOT C. NOR D. AND

14. Which one is a DCL command is SQL ?
(SQL # DCL command &T SSEeT & —)
A. Update B. Select C. Delete D. Grant

15. Which one of the following SQL command used to view data ?

(fefeRaa § 4 @9 SQL command, data & 3w § Sugn

AT ' ?)
A. Create B. Insert - C. Select D. Update
16. Which of the following is not a computer network ?

(F=1 4 9 ®19 computer network &1 & ?)

A. LAN B. TCP C. WAN D. MAN
17. Which of the following is not a valid Network topology ?
(=1 % A =17 |8 Network topology &1 & ?)
A. RING B. BUS C. STAR D. UTP

18. Which of the following is a valid MEDIUM of computer network
? (ffoa 9 & ®r wé Computer Network Medium )

A. RING B. HUB C. STAR D. UTP
19. “324-A, Park Street” isa ?

(“324-A, Park Street” & % —)

A. Numeric Data B. String Constant

C. Numeric Constant = D. Variable



20.

21,

22.

23.

24.

Math . his a

(Math . h & T& —)

A. Derived Data Type B. Function

C. Header file D. Built in Data Type
> =|s al/an )

(>=% 1 )

A. Instance B. Design

C. Data Type D. Operater

Which one is encapsulated in a class 7

(Fr=1 § ¥ ®9 class # Encapsulate €T 8 ?)

A. Program & Process B. Function & Data
C. File & Disk D. Variable & Constant

Which one is an Abstract data type ?
(=1 § 9 319 Abstract data type & ?)

A. Class B. Double

C.int D. string

-

Which one is correct for inheritence ?
(Inheritence & forg &9 T8 8 — )

A. Animal to Cat B. Variable to Constant



25.

26.

27.
file. (CPP # I/O operation &%= @ folv, g ®9 a1 header file STz

28.

29.

C. Lock to Key D. Data to program

Column/Field of a table is called

(Table &7 Field/Column HEaTaT & ?)

A. Data type B. Row Name
C. Attribute D. Entity Name
Router is a

(Router 8 & —)

A. Topology - B. Device
C. Protocol D. Language
To perform 1/O operation in CPP, we must use ........ header

HRAT A1ey —)
A. <iostream.h> B. <string.h>
C. <math.h> ) D. <stdio.h>
CPP keywords are also called

(CPP keywords 3R 1 ®gamar & —)

A. Preproccessor B. Punctuation symbols
C. Operators D. Reserve words

DBMS stands for



30.

31.

32.

(DBMS &7 qz1 =/ & —)

A. Database Management System
B. Database Master System

C. Database Management Structure

D. None -
Combination of two/more networks beyond geographical limit
is called
(AT AT @ R, & AT I ¥ AfWe network B Combination
PEART & ~)
A. LAN B. WAN
C. MAN . D. All of the above
Which operator has highest precedence in */ % ?
(39 919 (*/ %) 999 WTET precedence & — )
A B./
C.% D. All have same precedence
What will be output of following lines of code ?

IntA; A=10 ; A++; cout <<A -
(fFr=ferRaa  Lines of Code &1 Output g — )

Int A; A=10; A++; cout <<A:



33.

34.

35,

A 10

B. 11

C.0 D.9

Primary Key is also called

(Primary Key &1 &R it %g1 Simar & -)

A. Candidate Key
C. Alternate Key

Android is a/an
(TgITS © TP —)

A. Compiler
C. Editor

Float is a
(Float g T& —)

A. Value

C. Operater

B. Super Key

D. Foreign Key

B. Operating System

D. Interpreter

B. Variable

D. Data Type
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SECTION - A (Non-Objective Type Questions)
(Short Answer Type Question) (org, 98T ye=)
(Answer any 10 questions) (f&=1 <9 Usl &1 9ax 3-)

(Write your answers not more than 50 — 70 words)
(auﬁmﬁmwso—ro&m‘fﬁaﬁ‘cﬁﬁé—) 10 X 2 =20

. Define class and object.
(Class 3k Object 1 uRwIfyT 7% )

. List Relational operators in C++ and explain their functions.
(C++ ¥ Relational operators T 9919 3R 3% Bt @) awe )
. Explain looping and branching with example.

( S=TERYT HfET Looping afv Branching. BT D AT PN |)

. Explain the term Tree with example.

(SETERV Wfed Tree g &) wmam o )

. Explain selection sort.

( Selection Sort & =me o |)

. Explain Super Key and Alternate Key attributes..

( Super Key 3k Alternate Key Attributes @ @irar % )

. Define DDL and List all DDL SQL Commonds.

11



(DDL &1 aRe1fyd &9 3R s DDL, SQL Commands 7 fared 1)
8. Define WWW.
(WWW &1 oR\ria & 1)
8. What is topology ? Explain various type of topologies.
(Topology @1 8 ? faf¥=1 y&R & Topology #1 = & |)
10. Explain Boolean operators with example.
(SgTERYT Wfed @1 Boolean operators =T & |)
11. Explain data independence.
( Data Independence @' = o |)
12. Explain Database.
( Database &' w# = )
13. Explain Boolean Algebra.
(Boollen Algebra ot w34 |)
14. Explain table with example.
(SerEver |fgd Table 31 &Ram o )
15. Describe C++ tokens.

(C++ Tokens &I quiT & |) -
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wvs— B (" It awE)

(SECTION — B) (Long Answer Type Qestions)

(Write your answer in not more than 150 — 250 words)

(319 WeHl BT SR 150—250 Y&l A 3fAd 7 &) 5 X 3 =15

16.  Define Linked List and show its implementation using a C++

program.

Linked List &7 aRuif¥a o 3k 39 @at=ga9 &1 g& C++ program
o g ¥ fard |
17.  Write a C++ program to accept a number and display that itis a

Prime number or not.

C++ program # & wfi@r fFHar T Number, Prime & a1 5781, &1
ford s output famamd |

18.  Write a C++ program to accept a number then display that the
number contains less than two digits or more than two digits.
C++ # U program ford i ve WaR far T number |, <1 digit
¥ BT & 1 go1.fdwd |

19.  Write an object oriented program in C++ to demonstrate constructor

class.

C++ % U object oriented Program ford iR constructor class @

frar &) gafid & |
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21.

Write an object oriented program in C++ to calculate and display the

compound Interest.

C++ % U% object oriented program ford 3k compound Interest
calculation &7 fewTd |

Write a program in C++ to convert & display Rupees into Dolloar.

Rupees &I Dolloar # 35 U9 wel¥fd &= & fow C++ & &

program ford |
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